
Copy and complete these in your book.  If you ARE NOT confident with 

exchanges just do ‘a’s. 

 43 

-12 

        

57 

       -26 

        

      46 

-13 

 

   44 

- 11 

        

   43 

- 12 

 

 

 

 

 

 

 

2. Riyaan is performing a column subtraction with two 4 digit numbers.  The 

larger number has a digit total of 35 (all 4 digits add up to 35).  The smaller 

number has a digit total of 2 (all 4 digits add up to 2). 

What could Riyaan’s numbers be? 

Use these cards to help. 

 

 

759 

       -538 

 

 994 

       -122 

 

 236 

       -112 

 

 475 

       -129 

 

    379 

       -108 

         

     8744 

       -3622 

       

     5341 

       -5211 

      

   8183 

       -7132 

 

    4738 

       -3525 

 

   9985 

       -1943 

 

a) 

b) 

a) 

b) 

a) 

b) 


